Q-1

Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2015

Subject Name: Operating Systems

Subject Code: 2TE030SC1

Semester: 3 Date: 08/12/2015 Time: 2:30 To 5:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch: Diploma (CE)
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Attempt the following questions:

What is Full Form of PCB?

A) Process Control Block. B) Process Control Board.
C) Process Communication Block. D) All of Above.

Which of the Following are types of Operating Systems?

A) Batch Operating Systems.
C) Multi Threading Operating Systems. D) All of Above.

What is Full Form of IPC?

A) Intel Process Clock. B) Inter Process Communication.
C) Both A and B. D) Inter Program Communication.
A Collection of Different Instruction is called

A) Program. B) Process.

C) Both A and B. D) Hardware.

Which one of the following are not types of Scheduling Algorithm?
A) FCFS. B) SJF.

C) SRTN. D) Ostrich Algorithm.

What is the use of pwd Command in UNIX?

A) Print Working Directory. B) Change Working Directory.
C) Removes File. D) Create New Directory.
Which of the Following are Attributes of File?

A) Name. B) Identifier.

C) Time and Date. D) All of Above.

Which of the following are types of File Access Methods?

A) Sequential Access. B) Direct Access.

C) Random Access. D) All of Above.

Which is Not the Function of Operating Systems?
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B) Network Operating Systems.
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A) Memory Management. B) Disk Management.

C) Application Management. D) Virus Protection.
Semaphores are used to solve the problem of
A) Race Condition. B) Process Synchronlzatlon
C) Mutual Exclusion. D) None of Above.
Memory Protection is done by .
A) Processor and Hardware. B) Operating Systems.
C) Compiler. D) User Program.

shares Characteristics of with both Hardware and Software.
A) Operating Systems. B) Data.
C) None. D) Software.
What is the use of echo Command in UNIX?
A) Rename a File. B) Copies a File.
C) Display Message. D) Remove a File.
What is Full Form of ROM?
A) Read only Memory. B) Random only Memory.
C) Both A and B. D) Read Organized Memory.

Attempt any four questions from Q-2 to Q-8
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Attempt all questions

What is Operating System? List the Type of Operating System and Explain

Multiprogramming Operating Systems.

Explain Race condition in detail.

Attempt all questions

Explain Process Life cycle in detail.

Explain Semaphore in detail.

Attempt all questions

Explain Round Robin Scheduling Algorithm in detail.
Explain Virtual Memory Management in detail.
Attempt all questions

What is Deadlock? Explain deadlock detection and deadlock recovery.

Explain File operations in detail.

Attempt all questions

Explain Memory Management with fixed Partition.

Write a Short Note: Intruders, and Cryptography.

Attempt all questions

Explain Memory-mapped I/O.

Write a Short Note: Trojan Horse, Trapdoor and Login Spoofing
Attempt all questions

Explain Architecture of UNIX with necessary diagram.

Write a Shell script to find smallest of three numbers.
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